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1. Let the operation (& & {+5%) /\ be defined for all positive integers (=

% #c) a and b by the equation (= #23") a/Ab=ab-a. What value of X is
x/\5=28?
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2. If the fraction % is express as a repeating decimal (¥ 3 -] #c), which

digit is in the 2011" place the right of the decimal point (-] #2:)?
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4. Study the pattern below, x= ( ).
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There are some numbers placed in the line as
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average of them (i & HihT 321E) ?
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16. Alphabetic are puzzles (F # #*) created by replacing (&
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) numerical digits in arithmetic problems with letters.
Each letter represents (i~ # ) a digit and no digit represents
two different letters. The three-digit number IMC is
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P Y (A 4) 9 18 27 45 54 63 81
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